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Market failure and reform 
of the childcare sector



What is the “market failure?”

Presenter Notes
Presentation Notes
There has been a lot of interest in the childcare sector in recent years (and rightly so, it is a major expenditure item and impacts on the ability of parents to participate in the workforce, and the welfare and future of children)
There have been several important reports and proposals for reform (shown here).
As many of you know, there is a standard economic approach to public policy. This standard approach involves asking a series of questions, such as “what is the underlying market failure?”, “what are the options for addressing that market failure?”, “What are the costs and benefits of those options?”
The traditional sources of market failure are things that you have all heard of – market power, public goods, externalities, asymmetric information, and possibly a few others, such as transactions costs.
This standard approach is required by the Office of Impact Assessment when assessing new regulatory proposals. But it is also good public policy. It is valuable as a guide to our thinking and analysis – as it helps to frame our thinking and make our analysis clearer – it’s a valuable intellectual discipline.
We can apply this standard approach to childcare issues.
As always, in any public policy problem, the first question to ask is: What is the underlying market failure – what is the fundamental rationale for government intervention in this market?
Interestingly none of these reports seem to ask the question of the underlying market failure. This seems an important lack. We can’t know how to go about solving the childcare problem until we know exactly what the problem is in the first place.
In my view there is benefit in being clear about the underlying market failure (the why) in order to be clear about how best to address the problem (the how).
This applies, of course, to other human services as well. The first step in ensuring that we are achieving value-for-money in human services is an understanding of why we intervene in the market in the first place.
By the way, there can be more than one market failure – there can be a market failure which justifies intervention in the first place, and a market failure affecting how competition operates in the market.





The Australian government has 
stated two objectives for the 
childcare subsidy:

• Promote the early learning and 
development of the child; and

• Increase workforce participation of 
caregivers.

Presenter Notes
Presentation Notes
If we are to achieve value-for-money in childcare services, I think it’s worth exploring what might be the underlying market failure which drives the need for government action in this market.
The Australian government says that it acts in the childcare market for two reasons: (a) To ensure a minimum quality and quantity of investment in childhood education and care so that children can get a good start in life; and (b) To promote workforce participation by the caregivers.
Can we understand these objectives through a market failure lens?




Equal opportunity as a source of market failure

• Left to market forces, investment in 
early childhood education and care 
would depend on the willingness 
and ability of parents to pay.

• There is an equal opportunity case 
for ensuring that all children have 
access to a minimum quantity of 
reasonable quality education and 
care regardless of their 
circumstances.

Presenter Notes
Presentation Notes
In my view, there is a good market failure argument for supporting children’s early learning and development.
That market failure argument is based on the concept of equal opportunity – this is slightly out-of-the-ordinary thinking, but I see it as fully compatible with classical economic analysis.
There is a large amount of evidence that investment in early childhood education and care improves life outcomes – that is, improves the long-run economic, social, and emotional success of the child. 
In other words, every child needs a certain amount of investment in order to achieve full life potential, happiness, and welfare.
But children cannot borrow against their future income or happiness to finance their early childhood education. This is a classic missing-market problem.
Parents and caregivers possibly could borrow on behalf of their children, but parents vary widely in their willingness or ability to pay.
In my view, if we believe in equal opportunity then it follows that every child should have access to a certain quantity and quality of childcare regardless of the parents’ willingness or ability to pay.
I view this as a market failure issue – in this case related to the inability of the child, before birth, to enter into a contract which ensures it will receive a minimum level of investment.
Ensuring each child receives a minimum quantity and quality of education and care will inevitably require government subsidisation.
This raises the question of how best to organise those subsidies so as to maximise the value for money.
The same issues arise across a wide range of human services sectors.




Is there a market failure basis for promoting 
“workforce participation”?

• Households make make-or-buy decisions 
all the time – on shopping, cooking, 
cleaning, gardening, home maintenance, 
and childcare.

• Should the government subsidise these 
services (when provided through the 
market) so that households work more 
hours and pay someone else to provide 
them?

Presenter Notes
Presentation Notes
What about the objective of promoting “workforce participation”? Can we view this through a market failure lens? 
Running a household requires a range of services – shopping, cooking, cleaning, laundry, maintenance, gardening, and so on as well as looking after and educating the children.
These services can be provided in house, or purchased on the market – there is a “make or buy” decision.
These decisions can be linked to the amount of labour supply of the household. Some households may choose to work longer hours and to purchase more of the cooking or cleaning services from the market (that is, eating out more, getting takeaway food, paying for a cleaning service and so on). Other households may choose to work less and to do more of the household tasks in house.
Each household has to find that balance – choosing whether to work more at the margin, and pay someone else to provide these services, or whether to work less and provide them themselves.
This balance depends on factors such as how much the household could earn from working more (after tax), as well as the cost of these services.
The government could shift the balance in favour of purchasing these services on the market (the buy part of make-or-buy) by either raising the wage rate, reducing taxes, or reducing the cost of these services.
Does it improve overall welfare for the government to subsidise these services that are purchased through the market – shopping, cleaning, gardening or childcare – so that I work more hours and pay someone else to provide these services for me?
Where is the market failure?
(If I have a big garden I may find that I need to stay home one day a week to keep on top of the garden. Should the government subsidise the cost of gardening services so that I work more hours and pay someone else to provide gardening services?)





Is there a market failure basis for promoting 
“workforce participation”?

• What are the arguments for 
promoting workforce participation?

Presenter Notes
Presentation Notes
These issues are particularly acute for childcare services, because young children require constant round-the-clock care and attention. So the make-or-buy decision is particularly intense in the case of childcare services. The household on this slide involves two men raising a young child that requires constant attention – the parents must make a decision how much to work and purchase childcare as opposed to providing that care themselves.
What are the policy arguments for the government seeking to influence this household to work more and place the child in care?[ What is the market failure?]
To be clear, the question here is not whether there is value in childcare and whether childcare should be subsidised. As I mentioned I believe there is a good equal opportunity argument for ensuring a minimum level of investment in early childhood education and care. The question here is whether there is a separate workforce participation argument. Should the government seek to influence households so that they spend more time working and less time looking after their children? What might be the arguments?

There is one bad argument for encouraging workforce participation – the argument that doing so increases GDP. But this just arises due to a flaw in the way GDP is measured. Economic activity that occurs outside the home (through the market) is counted in GDP whereas economic activity which occurs within the home is not counted in GDP. Shifting the household “make or buy” decision in favour of buying will increase GDP – but only because of the way we measure GDP. But this does not, of course, correspond to an increase in economic welfare.
There could also be a “tax wedge” argument. The presence of income taxes reduces the after-tax income which reduces the incentive to work – shifting the balance of the make-or-buy decision in favour of “make” side, so that there is an inefficient level of market-provided childcare. This is plausible and is an argument in favour of tax deductibility for childcare, as well as childcare subsidies.
There are other arguments which might argue in favour of government support to promote workforce participation. One possible argument is that childcare obligations arise fairly early in the career of the parent, at a time when their wages are low relative to the income expected in later years of the career. If parents cannot borrow against future income they may be forced to self-provide childcare early in their career even if doing so reduces their lifetime income. This is a liquidity constraint argument – it is similar to the argument for providing loans for higher education – as it allows households to make investments now under the expectation of higher longer-term incomes.

We don’t have to come up with all the arguments right now. My primary message is simply that there is value in articulating the underlying market failure. Each of the different possible market failures I have mentioned lead to slightly different policy prescriptions. It seems to me that we cannot now how to go about intervening in the childcare market unless we are clear as to why.


There are other arguments that are raised in favour of subsidisation of market-provided childcare. One argument is that, for some parents, self-provided childcare and education is of low quality and that a shift to market-provided childcare would improve overall outcomes. This is undoubtedly correct – and is a good equal-opportunity argument for taking action. But here we are asking whether the government should subsidise market-provided services merely to encourage workforce participation. My cooking skills may be weak, but that it is not an argument for the government to subsidise takeaway food.
Another argument is that market-provided childcare may be more “efficient” – in that it is cheaper to have one caregiver looking after several children than having each caregiver look after one child. The problem here is that what appears to be more “efficient” doesn’t necessarily correspond to better quality – it may be better to have lower child-staff ratios for long-term outcomes. I am sure that McDonalds can make hamburgers using less of society’s resources than I can make a hamburger. But that doesn’t mean that it would be better for society if I were forced to eat at McDonalds when I wanted a hamburger.
Another argument is that subsidising childcare promotes fertility. Perhaps fertility has broader external effects on the economy.







Can we rely on competition in childcare?

Presenter Notes
Presentation Notes
In any case, identifying the market failure is only the start of the inquiry. We still have to ensure that the way we intervene in the market, and the market design, achieves the outcomes that we want to see.
In the case of childcare, having made the decision that we want to support a minimum level of early childhood education and care, the question is how to ensure that that is delivered.
The current childcare market relies primarily on competition, combined with childcare subsidy, to deliver the outcomes in this sector that we desire.
But is it working? The real government expenditure per child has been increasing in recent years (ACCC, Figure 1.9) and the average daily fees appear to be increasing faster than CPI or the Wage Price Index.

There are good reasons for looking at these issues. In the case of human services there can be factors on either the demand side or the supply side which affects the effectiveness of competition.

Fortunately, in the case of childcare services it appears that competition is possible. There don’t seem to be significant economies of scale, and many communities seem to have many competing childcare facilities.
It is true that childcare markets tend to be quite local – but no more so than, say, schools. It is also true that parents can be reluctant to switch once their child is established, but there can still be competition before making a commitment.

But a couple of key results of the ACCC report call into question whether competition is working as it should be. The first shows that competition does not appear to be driving down prices. In fact, the reverse appears to be the case. It appears that the greater the level of competition in the local market the higher the price.
In addition, it appears that the number of childcare places per 1000 children is higher in inner urban areas and lower in regional and remote areas. If there are no real economies of scale we would have expected roughly the same number of childcare places per 1000 children. This could be due to transport costs, but I am not sure.
What could explain these results?






Can we rely on competition in childcare?

• Is childcare a credence good?

• What explains the substantial 
increase in fees over the last five 
years?

• Is one explanation an increase in 
quality (driven by improving 
enforcement of quality 
standards?)

Presenter Notes
Presentation Notes
One possible problem that may undermine the effectiveness of competition is that parents may not be able to observe the quality of the service – that is, how the children are treated, educated, and cared for when the parents are not present. They don’t even know this after they have consumed the product.
Economists call goods like this a “credence good”.
In the case of credence goods the price can be taken as an indicator of quality. This means that services cannot cut the price without also signalling a reduction in quality. This makes it hard to cut the price, and for competition to operate effectively. The childcare subsidy reinforces this effect because parents only pay a proportion of the childcare fee, so cutting the price results in only a small reduction in the out-of-pocket fee paid by parents and caregivers.
The same effect can happen in other markets. For example, in healthcare, or in education. If you have the choice to go to a dentist that is 50 per cent cheaper, would you switch? Or would you assume that the dentist must be lower quality? If your private school raised its fees would you immediately switch or would you assume that it is raising its quality?
If childcare is a credence good, this might be able to explain the results found by the ACCC. It would explain, for example, why increased competition does not lead to lower prices. It could also explain why there are more childcare places available in inner urban areas than in regional or remote areas.
In addition, there could be a tendency for childcare services to over-invest in the parts of the service that are visible to parents (such as facilities), even if that raises the total costs. (The same effect happens in private schools).


What might explain the increase in fees in recent years? I would suggest that it is due to a combination of relatively weak price competition (due to the effect that childcare is a credence good, together with the fact that most consumers are heavily subsidised), combined with increasing enforcement of quality standards. Even though quality standards have not changed much since the NQF was introduced, the proportion of services rated as “Meeting” the NQS or above has increased dramatically over that time.






Summary

• Good public policy principles are 
important in human services as in 
other sectors. We should start with 
identifying the market failure.

• In the case of childcare, there is a 
clear market failure based on an 
equal opportunity argument.

• Finding arguments to justify 
promoting workforce participation 
is more difficult but I have 
suggested a few.

• Competition is possible in 
childcare services, but childcare 
may be a “credence” good -
prices may be seen as a proxy for 
(unobserved) quality, so 
competition may not drive down 
prices.

• The design of the childcare 
subsidy may need to change to be 
more like the funding of schools.
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